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Topic:- Child Development & Pedagogy (CDP)

1) Identical Twins have ____. / G &4l (ATSSiehd gi=d)

1. developed out of two ova / Eff sl ¥ famfya Eﬁ?f %I

2. no identical heredity / Ob\lig 1t 9=y &naam ﬁ%ﬁ?ﬁ%l

3. common heredity/ﬁ AT &Iljd'l?lldpdl Eﬂ?‘ﬁ%l

4, usually no resemblance to each other/ 3TH ?‘ﬁ? I Uh W I ﬁé HHTT qg)[ % I

Correct Answer :-

« common heredity / o gaE G‘I'Iﬁaﬁlﬁ'[ Eﬁ?ﬂ %I

2) Masculinity and femininity are typically linked to ./ YdYcd Gﬁ? T 3T ?ﬁ? L3

AFS BId Bl
1. Sexism / feRTHg

2. Sex / Tef

3. Gender / TefTT

4, Patriarchy / fﬁ?ﬁa

Correct Answer :-

. Gender/ﬁm

3) It's the part of the scientific method that uses the data to help explain the results of the

experiment. What is it caIIed?lwaﬁmmﬁwm%ﬁﬁma?maﬂ
RS FH T Teg B od JIT BT TN HdT ¢ 1 39 F91 $8d 82

1. Conclusion/ fspt
2. Purpose/ PUISE]



3. Hypothesis/ Ych Ul
4. Observation/ 3ddIH

Correct Answer :-

« Conclusion/ frsep e

4) Judgment should come through a systematic analysis and evaluation. This is known as

; oo ue srafRa fadtvor ok geaie & ATy & g 91Tl 39 -
ST STt 2

1. Critical thinking / 7181 feia
2. Insightful thinking / 3fae®qul fifam

3. Emotional thinking / TG\ feidH

4. Divergent thinking / SORY feidq

Correct Answer :-

. Critical thinking / T8 feia1

5) The average attention span of a high school student is: / Y& T;a"l'&g Ihd & B oI NTa
& Srafy forait g1l 8:

1. 32-40min/ 32-40 f e
2. 25-30min/ 25-30 fie
3. 10-12min / 10-12 f&Fe

4. 15-20 min/ 15-20 & e

Correct Answer :-

« 10-12min / 10-12 TAE

6) When is the best time to reinforce behavior? / SIGER I mﬁ B DT AT 3BT
TG B 52

1. Long before the behavior occurs / ddgIR _Eﬁef ) dgd qHU U 681
2. Long after the behavior occurs / JdgIR Eﬂef & dd g dlg

3. Shortly after the behavior occurs / dgIR Eﬁef I P JHY dlq

4, Shortly before the behavior occurs / dgIX Eﬁef I S IHY U_EI@[

Correct Answer :-



« Shortly after the behavior occurs / IdgIR @ﬁ I P HY diq

7) When a pleasant stimulus is added to increase the incidence of a behavior, it is known as:

/ ST U a8 R &1 g1 &1 9eM & ol U Yue SEIu® &1 SiST Sar g, a1 39
FYH S AT 8

1. Positive punishment / HPRIHD qUS

2. Positive reinforcement / P RIHD L\i“lcfl‘(ﬂ"l

3. Negative punishment / TPRIHD qUS

4. Negative reinforcement / TPIRIHD Y Sa

Correct Answer :-

+ Positive reinforcement / HPRTHD L\i“l&ﬂ"l

8) Unless the typist, in order to learn typing prepares himself to start, he would not make
much progress in a lethargic and unprepared manner. Who proposed this learning theory

which believes in the ‘Law of Readiness’? / me,mm %ﬁmaﬁaﬁ
I HIA F T R 78 H3a1 8, 99 IF 98 TP G SR ufea aiter & 9gd wifa
ﬁ?ﬂlwmﬁmmmﬁmﬁmﬁ‘m%ﬁm’ﬁﬁm
PIAl 2

1. Jean Piaget / ST oSt

2. Edward Thorndike / USdS UHSI3d
3. Wolfgang Kohler / I HIgeR
4. Tan Pavlov / dTH UICNIGH

Correct Answer :-

« Edward Thorndike / TSdS UM SS®

9) One way to involve all students in the class, so that no one feels left out is by: / PET T

Gt BT B I B BT TP dpT e 7, difs B M AT HegE A S [P IR
ot fearman g:

1. Punishing the non-performing students / TR-UGRH A 10 B DI &8 AT

2. Changing the seating arrangements / S ! STTRIT B SIENE]

3. Ignore the uninvolved students / ST e 81 aTal B BT JUET HRAT

4. Send the uninvolved students out of the class / ICRIRUIEN] Eﬂ%f e S| DI Hem A CIRES Ve
o



Correct Answer :-

« Changing the seating arrangements / JG B TR B SENEI

10) During a guidance service the help that a client receives is for: / T 'H'I"'h'ﬂh GIE g

&R, I8 Ugg Sl U TTe® i 7o forg et &:

1. giving solutions/ HHIYT A

2. making decisions on behalf of the client/ UTeh &I G‘nT @ ﬁ'qu éﬁ

3. impose opinions/ X[ e

4. focus on setting goals and problem solving/ <& fefRor SiR Trer 1™ | e 3

Correct Answer :-

« focus on setting goals and problem solving/ ¢1&d fRefRor SiR Trer HTe™ | e 3

11) During development, a major prerequisite for learning is: / ICEanEg a?'F'I', SRR &
e ve yg@ R 8:

1. Maturation / IR Ueddl

2. Encouragement / ISl

3. Guidance / ¥

4, Financial help / fawiig Tgrgar

Correct Answer :-

« Maturation / GRGadl

12) Over protectiveness of parents leads to in the child. / Hre-foar &t srafere

WUTHASATA B _____ Dt AR AT I
1. Confidence / TEAYTH

2. Dependence / TR

3. Ego strength / 3R Xfdd

4. Level of aspiration / 3{TPT&IT *F TR

Correct Answer :-

« Dependence / AR



Which of the following is a characteristic of the project method? / fefafea 4 @ -t

TP Uieide faft ot fagoan 82

1. A voluntary undertaking / Tch Wfsse Taam %I

2. Carried in its natural setting / 3101 UTdhfads AT H Pt ST
3. Problematic act / JHRITH® B |

4, Used for all round development of child’s personality / ©TA & Hfdicd & garfior faer & f%‘l'q
SUINT &Y St B

Correct Answer :-

« Used for all round development of child’s personality / ST & fdicd & garfior faerg & ]%1?
SUIRT & ST

14) Which one of the following is a principle of counselling/ Frafafeaa & 9« =t &1

o frsia g2
1. Diagnosis of external appearances. / 1! fewmd &1 e |
2. Acceptance and understanding of individuals. / faadl &t W 3R HHLA|

3. Flexibility of program according to community needs. / FTEETW JTaRGH AT & IR
HTAHH HT TAIATI |

4. extending help to all individuals. / TH} STFTdl BT TG U BT

Correct Answer :-

« Acceptance and understanding of individuals. / faaal ot Fﬂ?ﬁf 3R HHLA |

15) Which is the second stage of psychosocial development according to Erik Erikson? /

TR® TR & IR, AFIETHTNG fAHTH BT gERT TR HIF-91 32
1. Initiative vs. guilt / Ugel d-TH HURTY

2. Autonomy vs. shame and doubt / EEREGICEIE T«’lﬁ 3‘ﬁ7 ﬂé_s'

3. Industry vs. inferiority / gRyH §9H E‘ﬁq?ﬂ

4. Generativity vs. stagnation / 3GIRd[ d-TH S&RId

Correct Answer :-

« Autonomy vs. shame and doubt / gdzdT S99 I 3%7 ﬂ%_s'

16) The premise that an individual's behavior and affect are largely determined by his or
her attitudes and assumptions about the world underlies: / g 3TYRR <l frft afea &



AER 3R YHTG Bl I8 THM W IS AT R g1 B G0 & aR F Ar=acrsit
gRT et fosam siran 3:

1. Cognitive-behavior therapy/ ASTHTEH® -G AT

2. Psychoanalytic psychotherapy/ HAIfORAYUTHS AT
3. Milieu therapy/ firems okt

4. Modeling/ HIS T

Correct Answer :-

« Cognitive-behavior therapy/ IITHB-HAATR DR

17) In which stage of development does the child learn motor and physical skills necessary
for playing different indoor and outdoor games? / foora & 5 @R A = fafts 371:";1?
3R 3TSTSR T WerH & forg smazge® e ok IRN® Hizra dadr 32

1. Later childhood (6 to 12 years)/ URd dlcITdRT (6 12 aﬁ)

2. Infancy (up to 2 years)/ RITTRT (2 aﬁfa@

3. Adolescence (from 12 to 18 years)/ fpeRERT (12 18 aﬁﬂﬁ
4. Early childhood (3 to 5 years)/ URIH® STeATIRIT (3 9 5 TH)

Correct Answer :-

« Later childhood (6 to 12 years)/ URd dledIdRYT (6 12 aﬁ)

18) What must be encouraged in the second stage of psychosocial development according to
Erikson? / TR & AR, HAIGATIAS fAHTH & gy IR0 § 1 Hieafed fbar s
qMfeu?

1. Relationships / &Y

2. Support / ganT

3. Proximal development / Aeadi faemy
4. Exploration / 3=y

Correct Answer :-

« Exploration / 3{=NT

19) What theory focuses on the role of operant conditioning in language acquisition? / HTHT

SfRreu ® Wod Srg@ad 3t Yf¥eT W Hi4 A1 Rigid Hiad 32
1. Nativist theory/ﬁﬁﬁ?ﬁl?s{iﬁ



2. Nature theory / Wﬁf Rigid

3. Cognitive theory / GTHIHD Rigid

4. Behaviourist theory / OLJdE;IQdI(‘:I Rle&ld

Correct Answer :-

« Behaviourist theory / OqOIGIQOIIC':\I ﬁ-lz&ld

20) What career would be ideal for a child with high spatial intelligence? / 3= RTA® §@

el I & fore w19 A1 saaHTg 3meRf gRm?

1. Architecture / dI¥J P Il
2. Musical composition / UIGRERI

3. Politics / TSIl
4. Writing / fora=1

Correct Answer :-

+ Architecture / ¥l

21) Interest as well as is a must to achieve desired success in a task. / TP 9y

Y, UH PTd A qifdd Shddl UTd $34 & fore Smawge gl
1. Attitude / 3fHaRI

2. Hard work / B3R URHH

3. Aptitude / AT

4. Intelligence / gf&

Correct Answer :-

« Aptitude / BRG]

22) Who is the father of Psychoanalysis? / AAREAYUT & SF B 82
1. Carl Jung / WET

2. Brik Erikson / TR TREH

3. Jacques Lacan / Vllch §IEa
4. Sigmund Freud / Rrvs wrae

Correct Answer :-



« Sigmund Freud / Rrge s

23) The Two-factor theory is introduced by: / fg@R® frgia 59% grRT ufaurfed fear

4aT:

1. Lev Vlygotsky / fora argiieqe!
2. Abraham Maslow / Wrﬂﬁ

3. Jean William Fritz Piaget / ST faferad flest foams
4, Frederick Herzberg / TheR® B’Gfan

Correct Answer :-

» Frederick Herzberg / Ebsi\@b '6\;?&‘7

24) The two factors which were identified in the Two-factor theory are: | fgPR®
Risia ¥ o9 <l oR@l 3t tgam o1 T &, 3 8

1. chemical and social / IS 3R IS

2. motivation and hygiene / SR (Iﬁﬁaﬂﬂ) 3R W=zl (E;Is\ﬂnl-l)
3. physical and economical / Hifde 3R srfzmefig

4. biological and environmental / Sfae 3R gafavuitg

Correct Answer :-

« motivation and hygiene / SR (Iﬁﬁaﬂﬂ) 3R W3l (E;Is\slnl-l)

25) Louis L. Thurstone did not focus on which of the following abilities? / ﬁ'ﬂﬁl’@ﬂﬁﬁﬁv_\q
&THET TR 33 Ud. YR - S Sigd g1 fbar?

1. Associative Memory /ﬂ%ﬂ]ﬁ@ﬂﬁf

2. Verbal Comprehension /ﬁm S{AYRUT]
3. Psychomotor Ability/ﬂ:h'aTUﬂ?ﬂ"'q?‘lT
4. Numerical Ability / ERSHTHD &HdT

Correct Answer :-

« Psychomotor AbiIity/II:ﬁaTUﬂ’Canﬂ

26) Problem in spelling and reading are faced by a child affected by: /ﬁﬁ:[ T guTfad Udh T
ERT T 3R Ug W AT BT AT BT ISl §:



1. Dysgraphia /%FTITW
2. Aphasia / dIdTdId

3. Dyslexia / TS ifaRaan

4. Dyspraxia / feSfaaa

Correct Answer :-

» Dyslexia /%@'@H’Cﬂ

27) CANCELLED

What is the term used to denote the long-term increase in 1Q over the past few decades? /

Uod o <P H, m(mﬁﬁmq@aﬁﬁwﬁamﬁ%mm
oG BT SUANT fomar Srar 82

1. The Flynn effect / SRR
2. The generation gap / tﬂ_(.ﬁ 3T

3. The IQ effect / 3TSE THTT
4. The Wechsler effect / IR UHTT

Correct Answer :-

+ The Flynn effect / fOet Tt

28) Pedagogy means to | Rrgmeme &1 o
gl

1. educate the child / 9= &1 RIf&rd B

2. lead the child / §=d BT AJd BRI

3. guide the child / S DI TMSS BT

4. understand the child / S &1 JHSIAT

Correct Answer :-

« understand the child / S &I HHLATI

29) The method that enables a student to solve a problem, carry out a task, or achieve a goal

through a gradual shedding of outside assistance is called: / & fafr it foredt o &1 fpedt
T &1 g P, fredl 1 o 3T 3 a7 918t Gerdl & ile Aeg & A1eq A
TS A&T YT B § & Tl 8, S° Hgl oIl g

1. Scaffolding / UTS (I WHICE)



2. Active learning / Tfehd 3{TTH

3. Root memorization / H&T T¥HARTT

4. Drilling / TSfefT

Correct Answer :-

. Scaffolding / UTS (IPWHITET)

30) Babies learn to differentiate between day and night by the age of ./ ?:I'ﬁ GITQ

A T e 3R I | SR AT W B
1. Six months / ¥8 a4

2. Three months / <19 T8

3. One year / U Y

4. Nine months / :ﬁ qﬁﬂaf

Correct Answer :-

o Three months / GG Il—ﬁpﬁ

Topic:- General English(L1GE)

1) Fill in the blank with the correct option in the given sentence:

What he says is in the realm of imagination and highly hypothetic--.

1. -ating
2. —ally
3. -ity
4. -al

Correct Answer :-

o -al

2) Read the following passage carefully and answer the questions that follows:

Colours have a lasting effect on people. At present, major companies spend millions of rupees on
deciding what colours are the most effective when marketing their products. This is because
colours have a deciding influence on the customer’s psychology and purchase decision.
Nowadays we can buy radios and electric fans in lavender and pink. Restaurants emphasise on
the use of flowers and colourful plates. Cars are coming out in pink and aqua. Part of the
importance of the colour of an object is due to the fact that the colour affects the way one feels



about it. Since we want a vacuum cleaner to look light and easy, it is generally coloured in
pastels and light colours. But gardening equipment and athletic equipment need to look
powerful. That is why we rarely find a lawnmower in pink, but red is fine. Not long ago, sheets
were always white and refrigerators commonly came in colours like ‘old gold’, ‘avocado green
‘and ‘copper tone’. Now these colours are considered old-fashioned.

What would be the most appropriate title for the passage?
1. Awareness about purchase

2. Impact of colours on people

3. Psychology of people

4. Need for colours

Correct Answer :-

e Impact of colours on people

3) Read the following passage carefully and answer the questions that follows:

Dolphins are regarded as the friendliest creatures in the sea and stories of them helping
drowning sailors have been common since Roman times. The more we learn about dolphins, the
more we realize that their society is more complex than people previously imagined. They look
after other dolphins when they are ill, care for pregnant mothers and protect the weakest in the
community, as we do. Some scientists have suggested that dolphins have a language but it is
much more probable that they communicate with each other without needing words. Could any
of these mammals be more intelligent than man? Certainly the most common argument in favour
of man's superiority over them that we can kill them more easily than they can kill us is the least
satisfactory. On the contrary, the more we discover about these remarkable creatures, the less
we appear superior when we destroy them.

What does the writer advocate in the passage?
1. Intelligence of dolphins

2. Protection of dolphins

3. Friendliness of dolphins

4. Intelligence of humans

Correct Answer :-

e Protection of dolphins

4) Read the following passage carefully and answer the questions that follows:

Colours have a lasting effect on people. At present, major companies spend millions of rupees on
deciding what colours are the most effective when marketing their products. This is because
colours have a deciding influence on the customer’s psychology and purchase decision.
Nowadays we can buy radios and electric fans in lavender and pink. Restaurants emphasise on
the use of flowers and colourful plates. Cars are coming out in pink and aqua. Part of the



importance of the colour of an object is due to the fact that the colour affects the way one feels
about it. Since we want a vacuum cleaner to look light and easy, it is generally coloured in
pastels and light colours. But gardening equipment and athletic equipment need to look
powerful. That is why we rarely find a lawnmower in pink, but red is fine. Not long ago, sheets
were always white and refrigerators commonly came in colours like ‘old gold’, ‘avocado green
‘and ‘copper tone’. Now these colours are considered old-fashioned.

Why are light colours used in some products?
1. To win over customers

2. To create a favourable impression

3. To make the products light and easy

4. To sell unwanted products

Correct Answer :-

* To make the products light and easy

5) Read the following passage carefully and answer the questions that follows:

Colours have a lasting effect on people. At present, major companies spend millions of rupees on
deciding what colours are the most effective when marketing their products. This is because
colours have a deciding influence on the customer’s psychology and purchase decision.
Nowadays we can buy radios and electric fans in lavender and pink. Restaurants emphasise on
the use of flowers and colourful plates. Cars are coming out in pink and aqua. Part of the
importance of the colour of an object is due to the fact that the colour affects the way one feels
about it. Since we want a vacuum cleaner to look light and easy, it is generally coloured in
pastels and light colours. But gardening equipment and athletic equipment need to look
powerful. That is why we rarely find a lawnmower in pink, but red is fine. Not long ago, sheets
were always white and refrigerators commonly came in colours like ‘old gold’, ‘avocado green
‘and ‘copper tone’. Now these colours are considered old-fashioned.

Why are some products not in light colours?
1. To make them look tough

2. To make them look inexpensive

3. To make them look attractive

4. To make them easy to operate

Correct Answer :-

¢ To make them look tough

6) Read the following passage carefully and answer the questions that follows:



Colours have a lasting effect on people. At present, major companies spend millions of rupees on
deciding what colours are the most effective when marketing their products. This is because
colours have a deciding influence on the customer’'s psychology and purchase decision.
Nowadays we can buy radios and electric fans in lavender and pink. Restaurants emphasise on
the use of flowers and colourful plates. Cars are coming out in pink and aqua. Part of the
importance of the colour of an object is due to the fact that the colour affects the way one feels
about it. Since we want a vacuum cleaner to look light and easy, it is generally coloured in
pastels and light colours. But gardening equipment and athletic equipment need to look
powerful. That is why we rarely find a lawnmower in pink, but red is fine. Not long ago, sheets
were always white and refrigerators commonly came in colours like ‘old gold’, ‘avocado green
‘and ‘copper tone’. Now these colours are considered old-fashioned.

What do the companies look for while marketing their products?
1. They study the attitude of their customers

2. They look for profits

3. They see how colours influence their customers

4. They see how customers like their products

Correct Answer :-

* They see how colours influence their customers

7) Read the following passage carefully and answer the questions that follow:

Dolphins are regarded as the friendliest creatures in the sea and stories of them helping
drowning sailors have been common since Roman times. The more we learn about dolphins, the
more we realize that their society is more complex than people previously imagined. They look
after other dolphins when they are ill, care for pregnant mothers and protect the weakest in the
community, as we do. Some scientists have suggested that dolphins have a language but it is
much more probable that they communicate with each other without needing words. Could any
of these mammals be more intelligent than man? Certainly the most common argument in favour
of man's superiority over them that we can kill them more easily than they can kill us is the least
satisfactory. On the contrary, the more we discover about these remarkable creatures, the less
we appear superior when we destroy them.

What are some similarities between humans and dolphins?

1. Care for the sick, the pregnant and the weak in the community
2. Care for the weak and the healthy

3. Care for the old and the weak

4, Care for the bold and the beautiful

Correct Answer :-

» (Care for the sick, the pregnant and the weak in the community



8) Read the following passage carefully and answer the questions that follow:

Dolphins are regarded as the friendliest creatures in the sea and stories of them helping
drowning sailors have been common since Roman times. The more we learn about dolphins, the
more we realize that their society is more complex than people previously imagined. They look
after other dolphins when they are ill, care for pregnant mothers and protect the weakest in the
community, as we do. Some scientists have suggested that dolphins have a language but it is
much more probable that they communicate with each other without needing words. Could any
of these mammals be more intelligent than man? Certainly the most common argument in favour
of man'’s superiority over them that we can kill them more easily than they can kill us is the least
satisfactory. On the contrary, the more we discover about these remarkable creatures, the less
we appear superior when we destroy them.

How do humans prove that they are superior to dolphins, according to the writer?
1. By killing them

2. By pampering them

3. By competing with them

4. By outmanoeuvring them

Correct Answer :-

By killing them

9) Read the following passage carefully and answer the questions that follow:

Dolphins are regarded as the friendliest creatures in the sea and stories of them helping
drowning sailors have been common since Roman times. The more we learn about dolphins, the
more we realize that their society is more complex than people previously imagined. They look
after other dolphins when they are ill, care for pregnant mothers and protect the weakest in the
community, as we do. Some scientists have suggested that dolphins have a language but it is
much more probable that they communicate with each other without needing words. Could any
of these mammals be more intelligent than man? Certainly the most common argument in favour
of man's superiority over them that we can kill them more easily than they can kill us is the least
satisfactory. On the contrary, the more we discover about these remarkable creatures, the less
we appear superior when we destroy them.

How do dolphins communicate with each other?
1. With the help of symbols

2. With the help of movements

3. Without needing words

4. With the help of a language

Correct Answer :-

» Without needing words



10) Read the sentence carefully and choose the option that has an error in it:

The rate of violent crime are eight times greater in cities than in villages.
1. eight times greater

2. are

3. in cities than in villages.

4. The rate of violent crime

Correct Answer :-

11) Which of the following options best combines the following sentences?

The fire destroyed the whole slum. The fire commissioner ordered that no combustible material
be kept in such houses.

1. After the fire had destroyed the whole slum, the fire commissioner ordered that no combustible material be
kept in such houses.

2. In spite of the fire destroyed the whole slum, the fire commissioner ordered that no combustible
material be kept in such houses.

3. The fire destroyed the whole slum, but the fire commissioner ordered that no combustible material be
kept in such houses.

4. Having the fire destroyed the whole slum, the fire commissioner ordered that no combustible material
be kept in such houses.

Correct Answer :-

» After the fire had destroyed the whole slum, the fire commissioner ordered that no combustible material
be kept in such houses.

12) Choose the right tag:

He has a fine sense of humour, ?
1. hasn't he

2. has he

3. hadn't he

4. had he

Correct Answer :-

e hasn't he



13) Choose the option that substitutes the given phrase appropriately.
Those who work in the same department

1. Colleagues

2. Brethrens

3. Assistants

4, Friends

Correct Answer :-
e Colleagues

14) Rewrite the following changing the active sentence to passive.

The Army chief reprimanded his subordinate.

1. His subordinate is reprimanded by the Army chief.

2. His subordinate was being reprimanded by the Army chief.
3. His subordinate was reprimanded by the Army chief.

4. His subordinate is being reprimanded by the Army chief.

Correct Answer :-

 His subordinate was reprimanded by the Army chief.

15) Choose the appropriate option to fill in the blank in the given sentence:

Rev’s company does not prefer candidates who are young and --experienced.
1. un--
2. ill--
3. dis--

4, in--

Correct Answer :-

16) Choose the appropriate antonym for the highlighted word in the given sentence.



The gregarious child ran up to every person in the playground to invite them to the play.
1. glorious

2. convivial

3. reclusive

4. clubbable

Correct Answer :-

e reclusive

17) Choose the appropriate prepositions for the given sentence:

Jerryisaccused  breaking _ his neighbour's house.
1. of... into

2. at... through

3. in... from

4. about... against

Correct Answer :-
e of... Into

18) Choose the appropriate synonym for the highlighted word in the given sentence.

I had been rudely awakened out of my deep slumber.
1. roused

2. scolded

3. disturbed

4. weakened

Correct Answer :-

e roused

19) Choose the appropriate conjunction for the given sentence.

She wants to go for para sailing being fearful of heights.

1. and



2. as
3. despite

4. so

Correct Answer :-
» despite

20) Choose the appropriate option that rewrites the given sentence in indirect speech.

Mohan said to Ajay,” Please help me.”

1. Mohan was asked by Ajay to help him.

2. Mohan advised Ajay if he would help him.
3. Mohan ordered Ajay to help him.

4. Mohan requested Ajay to help him.

Correct Answer :-
» Mohan requested Ajay to help him.

21) Choose the appropriate option that rewrites the given sentence in its passive voice.

This surprises me.

1. I will be surprised by this.

2. I would have been surprised by this.
3. I am surprised by this.

4. [ was surprised by this.

Correct Answer :-
o [ am surprised by this.

22) Choose the appropriate tenses to fill in the blanks in the given sentence:
Leaders of the striking workers that their strike soon.
1. announces... will be ending

2. announced...end

3. have announced. .. will be ending



4, has announced... ended

Correct Answer :-

» have announced... will be ending

23) Choose the appropriate tense to fill in the blank in the given sentence:

Rakesh was late for the meeting and was angry because we without him.
1. has started

2. had started

3. were started

4. have start

Correct Answer :-
o had started

24) Choose the most suitable pronouns for the given sentence:

__ bikedoesntwork.Can___help___ repair___ ?
1. Their ... they ... we ... them

2. Our ... they ... me ... her

3. My .. you..me.. it

4. His ... you ... her ... it

Correct Answer :-

25) Choose appropriate articles for the given sentence:

He is yearning for neither _ famenor ______ fortune.
1. no article required...the

2. no article... no article

3. a...no article required

4, the...the



Correct Answer :-
e no article... no article
26) Choose appropriate determiner for the given sentence:
of the students were affected by the sudden bus strike.
1. Many
2. Much
3. Less

4, A little

Correct Answer :-

27) Choose an appropriate article for the given sentence:

colleague of mine is coming to visit next week.
1. The
2. No article
3. An

4. A

Correct Answer :-
o« A

28) Choose an appropriate modal for the given sentence:

Dileepan do such a thing because he’s a gentle boy.
1.isnt

2. hasn't

3. wouldn’t

4, wasn’t

Correct Answer :-

o wouldn’t



29) Choose the option that best explains the highlighted expression:

If I had a chance to go to America, I would make the most of it.
1. go there as soon as possible

2. withdraw myself

3. enjoy to the maximum extent

4. travel as much as possible

Correct Answer :-

¢ enjoy to the maximum extent

30) Choose the right tag:

You live here from past 4 years, ?
1. does you
2. don’t you
3. doyou
4. isn’t it
Correct Answer :-
e don’tyou
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Correct Answer :-

30) IR A 99 9% [Aapa a7 8) 79 a@ M @) 95 9 apa g T A mweana e s
PR ITHT U T BT S ARING 47 7 AT US| I96 g TSR BT HH B DI AGYA &l 3R
it <1 a8 Yy &1 A ot T S A1 gfér snhieT A SieR-gw & R SR Udl ®l Wk W 916
PR UH-US o o v=hig-u=iig Wia 9@ 21 o1l a8 Hial Yoa aa Tod A1 Sferor snpier § e a8 efaweid
TET A TEA A, 99 U & I A B8 B 311 W T A R Turely Hia 9o ted gad 41 396 RW I W
T 91 $ TA=ar f Ty AB Gag ot 991 8 fApra usd A, WeX # WegR Fed iR = F1a-gd aroy wi
TR die 3ma A1

SUY TR P UHR -1 Y 7T Y= BT IR Ia13¢|

UH: XER U B3 B B3 US Mol F ora A2

1. Oefhd d

2. 999

3. Ud

4. FRY

Correct Answer :-

Topic:- HINDI (HIN)

1) A 4 B9 Il oD ey FY faiwar 7g) 8-
1. AT

2. fAva
3. THTIRITC! HTHT

4,%P[dcC



Correct Answer :-

2) fR1&7o1 B gUTARITE F T A THAT §2
1. TRre0r A & SMYR WR

2. TRI&0T ) I SgHR

3. TRI&M0T 1 SIS TRBRT 3G SHR

4. ZTH Y B Q1

Correct Answer :-

. TRIGUI G & YR W

3) fRrgror weTas ARl HTUTE -
1. SWRIad 4t

2. Dhad URYGdl

3. Had gl

4. $Id YTHRIHT

Correct Answer :-

o JWRIad gt

4) {59 UPR & A & WG] FT G4 a1 82
1. AR

2. e

3. URe BTs

4. AT U

Correct Answer :-



4. UG- B HIYA

Correct Answer :-

. AT DI

6) TATH 3N YT TH guX | FIadid PR I3 8, I§ U 8:
1. SRIGd It

2. Had Widhiads Sfiefad o1

3. Haq MiGw i &1

4. Haq fafaa sifeafad &1

Correct Answer :-

. Haq ORaS Sifiafad &1

7) TUTHUE &1 YTH H1 o1 Tl uithar 8-
1. IR Y - B 3R

2. T A SR BT 3R

3. Y SR DI 3R

4. T WU DT 3R

Correct Answer :-

. TUH R DI SR

8) T ¥ HI-¥ FAdydR YRdg T FeyerR T8 &2
1. AR

2. YATO-RI iy

3. JTYTAROT MR

4. AP Hg

Correct Answer :-

9) H ¥ fFH TWATHR $I HeIf~al <2 AU I Hafla &2
1. gdia AUt e
2. 3HTH®T



3. Hfisq grEt
4. SIOR[HR YIS
Correct Answer :-

. ey grE

10) fEwifRTaT T A& 3:

1. IWRIad gt

2. ad quinTer 3ifTH B B3
3. Had aail aly 4 difed g

4. A THIU H BISTS

Correct Answer :-

. Wi gt

11) gd&id BUrdt FR1er Fa R Wi F dgH § B-91 Fu 98 181 82
1. THA B 7 30 30 Sha-Tus o1 femo frar 2|

2. 39# fARret Y fage wraer i e g3 =

3. I8 U& QHId g

4. 75 PRI ) ENTETd T 2

Correct Answer :-

. T8 FRIen &1 YAt A g |

12) «an%“msmﬂafaﬁvmﬁw%’wamaﬂmwwﬁmﬂsmmﬁm
ST X8T 312

1. JHDE HYDRT GRT AR SHUDBRT B!
2. ool STcTh GRT Jegor Bl

3. Tl gego GRT ST Bl
4. A gRI P 1

Correct Answer :-

A N CINCAANK R |

13) “dR GWd®’ & HUIGH DI A?



1. TSI H1ed Gfdday

2. gfaIec R I SR
3. YMYRt R ey
4. AR AR

Correct Answer :-

14) HoIge! 3R U i ufres Py freds g fafea &2
1. forgg peomgfd

2. 3T HETR wHTe fgddt

3. ST GO TG fgadt

4. IR gl Rig

Correct Answer :-

- TR Ui g

15) e T fay F FdyeR B 82
1. 31TaE HETdR U4 fead!

2. 3TATY BOIRY TTe fgddt

3. Aoig YT fgad

4. SRS IHAS YA

Correct Answer :-
o SE S Yo
16) B A §G & 7T 3R ASH TR W1 @Il BT I 919 H FUTaR0T HI 1 82
1. Tl G BId 81 TSP TR o o1 |
2. Wl &g ol fob TS O S ol |
3. 35 8¢ o IR ASP OR oI Tl |
4. 1 81 Whd d¢ g3 I 81 Agh ORI el |

Correct Answer :-

. TP §C I R ASH IR &H |



17) ‘D¢ Tgiaa feaed gR1 I Ares 32
1. SU= TY 3D

2. YHPHAR TAT

3. Yig gt

4, g AP AT

Correct Answer :-

18) ‘wTed § Ygale’ fohas! q&® 82
1. 5 AR Ut

2. 3T X% Yad

3. 31 =%

4, AgTqdl aaf

Correct Answer :-

- ST T Yo

19) T’ HET fHad grT fafea 32
1. Jeia Barat fRran

2. Yieg gt

3. JHeig

4, STRHR Y9G

Correct Answer :-

. STORIHR YT

20) ‘TYTE U f6g UPR &1 U7 82
1. PRI 93

2. TSI U

3. ST U=

4, BRI T

Correct Answer :-

. IS 03



21) for it & Fae & farelt g sryar Areayet g @1 faavur wega fovar Sirar 8 ik 33w
TR ot JufRufar sifrard 8-

1. faaRuners ey
PACKIIE ARG

3. foaRTEH® ey
4, FraTES ey

Correct Answer :-

. fqaRunaTs ey

22) AT R gt frad g forfa st @2
1. TSI ATed gfdaany

2. HIYaRTG U

3. Ty 9y

4, STTSATY TG Sl

Correct Answer :-
. HIYRTE U
23) fr BTATEIE! TWATER Bt [ § UGS IgTaTe & o g 82
1. gdoid FAUrdt FRrar
2. geAHGA Ud
3. SIORIAR TG
4. AgTGdl gHl

Correct Answer :-

. HgTad! Al

24) QI F YR TR UTHT BT B AT WG
1. HIAT UTST, FES HTST

2. AN 3R FARTEED HTHT

3. foay iR TR HrwT

4. AYR YTHT, Hh R UTST



Correct Answer :-
o TR HTST, HhH R HTH
25) forga & el &1 g ST 8:
1. AT & GRI
2. 9 & GRI
3. I GRI
4. YTGTI3f & GRT

Correct Answer :-
. HTHIU & GRI
26) HE & T ST B b mgaif & e smava® gar e:
1. forRIRTaRIT & forw
2. gt 3mg it o forw
3. STTaRIT & oy
4. ARIGTERT & forg

Correct Answer :-
.« oft g il & forg
27) YR ¥ Fd &1 fore wren &1 goif ure 82
1. TF HTST
2. fauTeT
3. T HTST
4, JTSTUTST

Correct Answer :-

o JTSTUTHT

28) Ufd-Uelt 19 #X I 8, A 98T oI | 91T & P T YTarT Sugad ¢ |
1. SR 81 g

2. B TR TR Tg STem

3. Bad H gg! T8l &M



4. sl H Uld g1 AehIH

Correct Answer :-

. HEEH TG T o

29) TF gRT fUrar &Y foran an v {5 YR &1 =1 |1 sieem?
1. TGRS U

2. ST U

3. RN U

4. Qi o

Correct Answer :-

. Afadid 9

30) 9T B BT I 2 -

1. SURIad gt

2. B9 g STHRUT aTelt HTNT 6T TN

3. Had dTcD| BT ITRT G DAl

4. Had S H forma I8l &1 Wit &

Correct Answer :-

. SWRIad gt

31) HTHT g WL ¢ S gRIFH AT FIAE -
1. TTH A BIS Tal

2. ST B

3. Bl B

4. fqaRI &1

Correct Answer :-

. fFERi®

32) YTYT JGUT B3 Pi Uisha1 TP T wfehan g o -
1. RR 7

2. FRR @ 8



3. fAfya 3afd g Tadt &
4. RRT

Correct Answer :-
. PRI

33) &l ¥ PN fag & 9 4 9a1 A ygd e Rgres AR, Har, ae onfe & IR F qarar g 1
g fRraror 31 o At Rty sroeran @2

1. T ¥ 37T Bl 3R
2. R[S G&H BI 3R
3. WA 9 oifed Bt 3R
4, AT @ IR BT 3R

Correct Answer :-

- J1d Y 3T Bl 3R

34) fg d @ P13 erfrardar shuaive vl & Hay & arp 8 gl 82
1. U5 TReAT Sifaard g

2. T &b 3T T [igd A

3. Ff3ra watem &1 i =M R g

4. THIER T3 el T g

Correct Answer :-

. TR U4 WA BTG

35) forg & & S I U9 F 0 A STaTErd) Sidar T8 urdt e @2
1. AR A3 Y srfireafad

2. ST81 Y7IR 1 Hig =0

3. STed-fRIcY Td AT Fiedl & Ufd fagig Bi Hra

4. UPpTd DT GBI

Correct Answer :-

P INCA R IRNAEE

36) & A fFa YR & W= & ‘yadra &1 AT fobar sirar g2



1. =R Ux
2. 3RS Ux
3. GHRER U

4. UA YA

Correct Answer :-

37) e & @ B9 fadivan Swee & werfal o 781 urh ol 82
1. S &1 g=ms &1 fafad a=at B

2. YR TiTal T FoAor ST g |

3. QA &1 4T H fafad g

4. Jufew PP T TS B

Correct Answer :-

. RS B Y TS B

38) o & A H- fawar wa=id: yIg & Aew! $ T 82
1. ST HYT AT W 3NURRd Bl g

2. D! HYTRIN TR TR Bl & |

3. 3Ot TR H T8 JUTIATE! e 6|

4. 3% UTHI T TcA Afdd ST 8 |

Correct Answer :-

o AT TR H I8 gUfard} e g

39) frrafufae dfeml fea o< # Serwu &
gae o XY T, g e R e wieR wigh|
Tafa Ma wa fafer gf, faw a1 gt ag verd|
I I ¥ FIERIA SIFST ,HH- & 1 3t WoTe! |
gra Fa Y yfer 71E, H b & v era ATl 11
1. GO 991 X

2. U< 9«

3. fodlc gaaT &<



4. g Jaa B

Correct Answer :-
. TR B
40) Fafafeq iR s HT T o< 8?
Y # TR HRY, B § FeR Ry,
9¢ Tl 9t gu, afval @ aRA|
el ft Faelt 3, TH W FEAT R,
39 1 ga1 ot 9, T 8 gERA |
1. BURI B
2. 0 R B¢
3. AT B3
4. IIERI B4

Correct Answer :-
. TR o<
41) fafafe dfeml @ Fl T o< @2
U B A,F 3 A § 3R A it anaft |
3T faar o fraew, ag Jaamg et 1
1. i e
2. W o<
3. AT B<
4. gRNfAPbT B¢

Correct Answer :-
. Bheffaer B
42) frafafed dfel § oF-a1 sEeR g2
+ &R gea faak iR gfewr i as |
ST 3= SR, W g Sfs &% 1o 11
1. YifdHT bR
2. AT 3B R



3. Tg AADR

4, 3GTEYUT 3AhR

Correct Answer :-

43) HTER U3 § Y faqrea & g & sy frd Rt = ford
1. Tgafd

2. A & HUIGHh

3. HIAl-Od

4. 370 RRrefem

Correct Answer :-

. AP YUCH

44) e e Hrafay A Y1 wim Teeh v ¥ f5d weifia fear s @2
1. ST quTafa

2. HITAY g

3. Prafe reef

4. T BRI

Correct Answer :-

45) G WX F1UT E11 W ¢! 1 Wi & SR Ford e xfaa & gend 3 awfa &t o
3rdf @ferd 81T 8, 3/ P 9 Weg fRl Fed 82

1. foRiyT Treq wfeR
2. TI&IUT Xeg feRT
3. ST Yeg MfeRkT
4. YT sq Afad

Correct Answer :-

. T&UT Yeg Wfad

46) "I BT AT I BT TR, Arepifad &1 4 3 -



1. AT ARA |
2. B3 AR BT |
3. forelt 1 I @1 gfad ¥ A1 <

4. Q3 d1hd ¥ Gl b

Correct Answer :-

. ol ot 3t ot i @ A 3
47) AT YT fapTH 1 fA TR 8:
1. fe<fia

2. 94Y

3. Q1

4. aqd

Correct Answer :-

. T

48) WIoaeR GRT 3THTd B -

1. 9&q =0 A femmar wrar |

2. BICT IR (AR A 5|

3. U4 R @@ S 8|

4. oS ISP TG@RT AT 5|

Correct Answer :-

. U R g S g |

49) «gg dts QAT aTHTel !

A UY R AT BD

ATGYH W A= Teq

o uy wima 9k 3 1 - ug ufeaal feg sfa #1 82

1. ARGAETS 9]

2. SIOR[HR YIS
3. JAYRI Rig fgaae
4. QUSTHHRY dre



Correct Answer :-

50) «qfe e Sl B HAI ¢ a e T P HAEI B 1> P s d?
1. BRI 741G fgadt

2. 3T AR Yo

3. YRdg fgadt

4. HETAR yuTe fgad

Correct Answer :-
- 3T TS Yo
51) TR e dad fIeR gar s:
1. U 31&R forg
2. THG-FINCT S & B3
3. U g&erE

4. PTG ! 9gd U A TDH ST

Correct Answer :-

. THG-GIRON S F HieTs

52) g} wifgcy ¥ gramaTe &1 yade fod 9 Sran 82
1. gitEmeT ua

2. BRAR T

3. IAYURT 8 fdTepe

4. SITeb! TeeTH TTA

Correct Answer :-
. BREIRM =1



3. 7]
4. T T

Correct Answer :-

54) Wl fawed qamg -

3% 3iaid fafie |t 3k wheil # Y & URw 3R ey Y gu-geriaReardt T ) o 81
1. IRA BT

2. AETHTH

3. QRIOT
4. 3R

Correct Answer :-

55) el fawey qarga-

FREH wRaTs ¥ & & FeueR 8, frmgia # Saeife & Fd St
1. TTEHD el

2. faRYemuTe Rt

3. ST Ll

4. SfdglgId® QI

Correct Answer :-

56) @Il 31 MY # FRUE T8 81 T HHT UR &R W1 & 91 Wdadl WSMEIRGT 3R
IWEAd] § 9ed WTdl 31 TP AR Bl U HHM B WaAdT 3, W BT I9TR B 3Yar e i
TATdT 81 81 TH UP UITA $I HIeX I I WodT 8] & Hohd, Safe T HTHT ARTRS &I, S
HieX I ST @ HICY T BT ST YT B A BIE HISATS 81 gidl | gHD! ArdSTIHT W
MM B TdadT 2, fbg AR T A g9R TSt & 919 $1 Woizar 9¢ 781 g1 @it S Tdzrar g9
I 8, 98 gu) Afad 3t Weral § q1us 81 g a1fgu | g WRuT IGT Uit fr g% waddr &
1Y T SIFT BT UY ST 8l

Iuge ufsde Bl Ugdy I AT 1T Uy &1 I« forfae:
§H TP UNTA b1 HISI T B WaTdl 781 ¢ TP’ — 59 HY DT TG T g2

1. 3! 98 WaFdl U el arat



2. 98 FRUe T g

3. I g sy T g
4, TAdT BT MRABR) eI ]
Correct Answer :-

. IH I Sy T g

57) TaAdT 30 M9 § FARUe 8 g1 T WAT UR #R oM & d1¢ Waadl WM 3R
IWEAd] ¥ 9ed Tl 31 TP AT Bl U HHH B WaAdT 3, W BT IoTR BT Yar e i
TWaAar 7Y 81 89 U URTA P Wi Id $1 WaAdl 781 ¢ Jhd, Tafeh TP I ARTRS $Y, S
HieX ISAET ST © HIeT T BT U YT B A HIg HISATS 81 il | gHD! ArdSTIdT IR
MM &Y TdaAdT 2, fbg AN M A g9R TSt & 919 F) Weizrar g 781 g1 w1t St wadmrar gd
I 8, 98 guiX i @1 W@aadl § q1U® g1 gl a1eg| 6 VR 3@ 91t % aR wW@aadr &
1Y TP ST BT UY JST ST 2|

SUda URwSE P UgH - AT 1T Uy 31 I« fofaw:
I TR 1 I 2w a1 8t apar g2

1. YPHR 3R B

2. T & WeiAd

3. TG BT TR

4. T=d1 BT 3AfIPR

Correct Answer :-

. 3fYPR R HdHA

58) ¥WdAdl 3R MY # FRU T8t 21 T WAl UR &Y W1 & 91 Wdadl WGl 3R
IEyEddl § 9ed STl 81 T AfR Pt 49 UM B Waadl 8, W P I9R Pt YAl e Dt
TqATdT 8] 81 B9 UP URTA Bl A IolT4 B Tl Ta] ¢ IPbd, Safe T I AR B, i)
HIeX T T @ HieX T BT MU U B A BIS BISTS A8l gidl | THP ArdSWIHT R
T F} Wezrdl 8, fbg gAR T | AR TSR & W1 B Tadrar 9¢ 781 gt =1feu | St Tdsdr gd
I 8, 98 guN Afad 3t Waaal d 914 81 g a1fey | g WRUT IGT U1t fr gR wdaar &
1Y TP ST BT UY ST eI 2|

Sudad ufiede #t ugdR 1 3T 7T vy @1 I faflw:
a1 fRufat & 58 areswlier W T &t Wdaar 32
1. 99 T R A |

2. 9Id AR 3{1aTs JRielt g1

3. 919 §UR T ¥ foreft &1 dheiits 81

4. S HieX Ia- BT 3MTYF 81

Correct Answer :-



. 9 §HAR T Y {8l T debelie 7 7l

59) ¥aIdl 31 MY # fFRUe T8 81 T@ W UR &R W1 & d1¢ Wadadal WSl 3R
IEyEddl § 9ed WTdl 81 T AfR Pt 41 UM B Waadl 8, W PTd IR Pt YAl e Dt
TIAdT 8] 81 B9 UP URTA Bl I o4 B WdTdT Ta] ¢ IPbd, Sdfe T I AR B, i
HIeX I T @ HieX I BT MU UK B A BIS BISTS T8l gidl | THP ArdSWIHT R
M F} Wezrdl 8, fbg gAR T | AR TSN & Hi1 B Tadzrar 9¥ 781 gl =1feu | St Tdsdr gd
I 8, 98 gu) i 3t Waaal d 914 81 g a1fey | g WRUT IGT U1t fr gR wdaar &
1Y TP A HTUY ST BT 2|

Sudad uwde B Ugdr - AT 1T uy 1 I« fafa:

o1 fRufora o wadrar WA ok SwFEddl | ged ST §2
1. U AT UR A & 91

2. 3RTYH YT A & §lc

3. AR08 TG & HRUI

4. FIY13{T &b HRUT

Correct Answer :-

. TH UHTUR HA & 915

60) Tl 31 MY # FARUE T8 81 T HHT UR &R W1 & 916 Wdadl WSMEIRGT 3R
IWEAd] # 9ed WTdl 31 TP AR Bl U HH B WaAdT 3, W BT d9TR BT 3Yar e i
AT 81 81 TH UP UTTA $I HIeX I B WodT 8] & Hohd, Safe Teh HTHT ARTRS &I, S
HieX IS ST @ HICT T BT SMFTUA YT B A HIE HISATS A8 gidl | gHD! ArdSTIHT W
M B TdaAdT 2, fbg AN T A g9R TSt & 919 $1 Weizar 9g 981 g1 @it St wdzrar g9
I 8, 98 gu) Afad 3t Weral § q1us 81 g a1fgu | g WRuT IGAT Uit fr g% wdAdr &
1Y TP I HTUY ST BT 2|

Iude ufsde Bl Ugdy I AT 7T uy &1 I« forfa:
AT b Y D191 UY ST eIl 22

1. 3YPR

2. I

3. =g

4. TARUErar

Correct Answer :-



